Ke TNV HETS 3L — B BUR A 5 Pr R BOR AR A R (8) -

7 ‘”“ al PO 1) ..

0072 t 1# 6.72mg/msa
46h 2# 7.27mg/ms3 18h 3#

6.75 mg/ms 18h

M =0.072/0.65=0.1108t
M1# =6.72x 22593x 46x 10°/0.65=0.0107t
M2# =7.27x 19768x 18x 10°/0.65=0.004t
M3# =6.75% 21513x 18x 10°°/0.65=0.004t

M +M =0.1108+0.0107+0.004+ 0.004+0=0.1295






Ke TNV HETS 3L — B BUR A 5 Pr R BOR AR A R (8) -

7 ‘”“ al PO 1) ..

0.0367 t 1# 6.72mg/msa
44h 2# 7.27mg/ms? 17h 3#

6.75 mg/ms 15h

M =0.0367/0.65= 0.0565t
M1# =6.72x 22593x 44x 10°/0.65=0.0103t
M2# =7.27x 19768x 17x 10°/0.65=0.0038t
M3# =6.75% 21513x 15x 10°/0.65=0.0034t

M +M =0.0565+0.0103+0.0038+ 0.0034+0=0.0738



